
MTSE
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Class 10th

Time: 90 Mins. Max. Marks: 120

VERY IMPORTANT :

A. The question paper consists of  1 parts (Mathematics & Science). Please fill the OMR answer Sheet

accordingly and carefully.

iz'u i= ds ,d Hkkx (Mathematics & Science) gSA OMR mRrj iqfLrdk dks Øekuqlkj o /;kuiwoZd HkjsaA

B. Please ensure that the Question Paper you have received contains All the questions in each Section and

Pages. If you found some mistake like missing questions or pages then contact immediately to the Invigilator.

lqfuf'pr djsa fd iz'u i= esa izR;sd [k.M o ist esa lHkh iz'u gSA ;fn vkidks iz'u i= esa dksbZ =qfV tSls

dksbZ iz'u ;k ist ugha feyrk gS] rks fujh{kd ls lEidZ djsaA

INSTRUCTIONS (funsZ'k)
1. All questions are Single correct type questions. Each of these questions has four choices (A), (B), (C)

and (D) out of which ONLY ONE is correct.

lHkh iz'u ,dy lgh fodYi izdkj ds iz'u gSA izR;sd iz'u ds pkj fodYi (A), (B), (C) rFkk (D) fn;s x;s

gS ftuesa ls dsoy ,d lgh gSA

For each question, you will be awarded 4 marks if you have darkened only the bubble corresponding to

the correct answer and zero mark if no bubble are darkened. In all other cases, no negative mark will be

awarded.

izR;sd lgh mrj ds fy, vkidks 4 uEcj feysxs vxj vkius lgh mrj ls lacaf/kr cqycqys dks dkyk fd;k

gS vkSj 'kwU; uEcj feysxs ;fn dksbZ cqycqyk dkyk ugha fd;k gS rFkk xyr mRrj nsUks ij dksbZ _.kkRed

vad ugha gSA

2. Indicate the correct answer for each question by filling appropriate bubble in your answer sheet.

vkids izR;sd lgh mrj ds fy, mi;qDr cqycqys dks mrj iqfLrdk esa ml iz'u la[;k ds lkeus dkys djsaA

3. Use of Calculator, Log Table, Slide Rule and Mobile is not allowed.

dksjs dkxt] fDyi cksMZ] ykWx rkfydk] LykbM :y] dSydqysVj] dSejk] lsyQksu] istj vkSj fdlh izdkj

ds bysDVªkWfud midj.k ijh{kk d{k esa vuqefr ugha gSA

USEFUL DATA

Atomic weights: Al = 27, Mg = 24, Cu = 63.5, Mn = 55, Cl = 35.5, O = 16, H = 1, P =  31, Ag = 108, N = 14,

Li = 7, I = 127, Cr = 52, K=39, S = 32, Na = 23, C = 12, Br = 80, Fe = 56,  Ca = 40,  Zn = 65.5, Ti = 48,

Ba = 137, U = 238, Co= 59, B =11, F = 19, He = 4, Ne = 20, Ar = 40 , Mo = 96, Ni = 58.5, Sr = 87.5,

Hg = 200.5 , Tl = 204, Pb = 207 [Take : ln 2 = 0.69,  ln 3 = 1.09, e = 1.6 × 10–19, m
e
= 9.1 × 10–31 kg ]

Take  g = 10 m/s2 unless otherwise stated
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SECTION-I
[SINGLE CORRECT CHOICE TYPE]

Q.1 to Q.30 has four choices (A), (B), (C), (D) out of which ONLY ONE is correct.

Space for rough work

1. Two parallel lines have:

(A) A common point (B) Two common points

(C) No common point(D) Infinite common points

nks lekUrj js[kk;sa j[krh gS &

(A) ,d mHk;fUk"B fcUnq (B) nks mHk;fUk"B fcUnq

(C) dksbZ Hkh mHk;fu"B fcUnq ugha (D) vUkUr mHk;fUk"B fcUnq

2. The graph of the equation 2x – 3 = 3x – 5 is parallel to :

(A) x-axis (B) y-axis (C) both the axes (D) None of these

lehdj.k 2x – 3 = 3x – 5 dk vkjs[k fdlds lekUrj gS &

(A) x-v{k (B) y-v{k (C) nksUkksa v{kksa (D) buesa ls dksbZ ugha

3. If in quadrilateral ABCD, A = 90° and AB = BC = CD = DA, then ABCD is a :-

(A) Parallelogram (B) Rectangle (C) Square (D) None of these

;fn prqHkqZt ABCD esa, A = 90° rFkk AB = BC = CD = DA gS rks ABCD gS &

(A) lekUrj prqHkqZt (B) vk;r (C) oxZ (D) dksbZ ugha

4. The volume of the cylinder whose height is 14 cm and diameter of base 4 cm, is :

csyUk ftldh Å¡pkbZ 14 cm rFkk vk/kkj dk O;kl 4 cm gS rks bldk vk;rUk gksxk &

(A) 176 cm3 (B) 196 cm3 (C) 276 cm3 (D) 352 cm3
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5. The exponential form of 2 3 is :-

2 3  dk ?kkrkadh; :i gksxk &

(A)  61/2 (B) 61/3 (C) 61/4 (D) 6

6. The point (–3, 2) belongs to Quadrant _______________ :

fcUnq (–3, 2) fdl prqFkkZa a'k esa fLFkr gS &

(A) Q1 (B) Q2 (C) Q3 (D) Q4

7. The straight line 2x – 5y = 0 passes through the point :

ljYk js[kk 2x – 5y = 0 fdl fcUnq ls xqtjrh gS &

(A) (–1, 1) (B) (3, 1) (C) (0, 0) (D) None of these / dksbZ ugha

8. The graph of the lines x + y = 7 and x – y = 3 meet at the point :

js[kkvksa x + y = 7 rFkk x – y = 3 dk vkjs[k fdl fcUnq ij feYkrk gS &

(A) (5, 2) (B) (2, 5) (C) (6, 3) (D) (–1, 4)

9. If the diagonals AC and BD of a quadrilateral ABCD bisect each other, then ABCD is a :-

(A) Parallelogram (B) Rectangle (C) Rhombus (D) None of these

;fn prqHkqZt ABCD ds fod.kZ AC rFkk BD ,d nwljs dks lef}Hkkftr djrs gS rks ABCD gksxk &

(A) lekUrj prqHkqZt (B) vk;r (C) leprqHkqZt (D) buesa ls dksbZ ugha
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10. O is the centre of the circle having radius 5 cm. OM  on chord AB. If OM = 4 cm, then the length of the

chord AB =

o`Rr dk dsUnz O gS] rFkk bldh f=kT;k 5 cm gS OM  thok AB gS ;fn OM = 4 cm gS rks thok AB

dh YkEckbZ gksxh &

5cm

P

O
4cm

A BM

(A) 6 cm (B) 5 cm (C) 8 cm (D) 10 cm

11. The perimeter of one face of a cube is 40 cm. The volume of the cube (in cm3) is :

?kUk ds ,d Qyd dk ifjeki 40 cm gS rks ?kUk dk vk;rUk (cm3 esa) gksxk

(A) 1600 (B) 1000 (C) 800 (D) 160

12. If the diameter of a cylinder is 28 cm and its height is 20 cm, then total surface area (in cm2) is :

;fn csYkUk dk O;kl 28 cm rFkk bldh Å¡pkbZ 20 cm gS rks bldk i`"Bh; {ks=kQYk (cm2 esa) gksxk &

(A) 2993 (B) 2992 (C) 2292 (D) 2229

13. The mean of 994, 996, 998, 1000 and 1002 is :-

994, 996, 998, 1000 rFkk 1002 dk ek/; gksxk &

(A) 992 (B) 1004

(D) 998 (D) None of these / buesa ls dksbZ ugha
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14. 7 3  is –

(A) An irrational (B) A natural number

(C) A rational number (D) None of these

7 3  gS –

(A) vifjes; la[;k (B) ,d izkd`r la[;k

(C) ,d ifjes; la[;k (D) buesa ls dksbZ ugha

15. HCF (p,q) × LCM (p,q) =

(A) p + q (B) 
p

q
(C) p × q (D) pq

16. If the sum of the ages of a father and his son in years is 65 and twice the difference of their ages in years

is 50, then the age of the father is –

(A) 45 years (B) 40 years (C) 50 years (D) 55 years

;fn ,d firk rFkk iq=k dh vk;q dk ;ksx 65 o"kZ gS rFkk budh vk;q esa vUrj dk nksxqUkk 50 o"kZ gS rks firk dh vk;q

gksxh &

(A) 45 o"kZ (B) 40 o"kZ (C) 50 o"kZ (D) 55 o"kZ

17. Three chairs and two tables cost Rs. 1850. Five chairs and three tables cost Rs. 2850. Then the total

cost of one chair and one table is –

rhUk dqlhZ rFkk nks VscYk dk ewY; Rs. 1850 gS rFkk ikap dqlhZ rFkk rhUk VscYk dk ewY; Rs. 2850 gS rks ,d dqlhZ

rFkk ,d VscYk dk ewY; gksxk &

(A) Rs. 800 (B) Rs. 850 (C) Rs. 900 (D) Rs. 950
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18. Solve for x : 15x2 – 7x – 36 = 0

x  ds fy, gYk djsa : 15x2 – 7x – 36 = 0

(A) 
5 4

, –
9 3

(B) 
9 4

, –
5 3

(C) 
9 3

, –
5 4

(D) None of these / buesa ls dksbZ ugha

19. Solve for x : 6x2 + 40 = 31x

x ds fy, gYk djsa : 6x2 + 40 = 31x

(A) 
3 2

,
8 5

(B) 
3 3

,
8 2

(C) 
8

0,
3

(D) 
8 5

,
3 2

20. The ratio of the corresponding sides of two similar triangles is 1 : 3. The ratio of their corresponding

heights is :

nks le:i f=kHkqtksa dh nks Hkqtkvksa dk vuqikr 1 : 3 gS rks muds Å¡pkbZ;ksa dk vuqikr gksxk &

(A) 1 : 3 (B) 3 : 1 (C) 1 : 9 (D) 9 : 1

21. The areas of two similar triangles are 49 cm2 and 64 cm2 respectively. The ratio of their corresponding

sides is:

nks le:i f=kHkqtksa dk {ks=kQYk Øe'k% 49 cm2 rFkk 64 cm2 gS rks mudh Hkqtkvksa dk vuqikr gksxk &

(A) 49: 64 (B) 7: 8 (C) 64: 49 (D) None of these / buesa ls dksbZ ugha

22. The nature of the roots of the equation x2 – 5x + 7 = 0 is –

(A) No real roots (B) 1 real root (C) Can't be determined (D) None of these

lehdj.k x2 – 5x + 7 = 0 ds ewYkksa dh izd`fr gksxh &

(A) dksbZ okLrfod ewYk ugha gS (B) 1 okLrfod ewYk

(C) Kkr ugha fd;k tk ldrk gS (D) buesa ls dksbZ ugha
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23. When salt is dissolved in water :-

(A) Boiling point increases (B) Boiling point does not change

(C) Boiling point decreases (D) None of the above

tc ty esa Yko.k ?kqYkrk gS rks &

(A) DoFkUkkad fcUnq c<+rk gS (B) DOkFkUkkad fcUnq vifjofrZr gksrk gS

(C) DOkFkUkkad fcUnq ?kVrk gS (D) buesa ls dksbZ ugha

24. A force of magnitude' F' acts on a body of mass 'm'. The acceleration of the body depends upon:

(A) volume of body (B) density of body (C) area of body (D) mass of body

m nzO;ekUk ds ,d fudk; ij 'F' ifjek.k dk cy Ykxrk gS rks fudk; dk Roj.k fdl ij fuHkZj djsxk &

(A) fudk; ds vk;rUk ij (B) fudk; ds ?kUkRo ij

(C) fudk; ds {ks=kQYk ij (D) fudk; ds nzO;ekUk ij

25. Triple point of water is :-

ikUkh dk f=kd fcUnq gS &

(A) 373.16 K (B) 273.16° F (C) 273.16 K (D) 273.16 F

26. Force remaining constant, if the mass of body increases, its acceleration is likely to :

(A) increase (B) remain same

(C) decrease (D) sometimes increases and sometimes decreases

cYk dks fu;r j[krs gq;s ;fn fudk; dk nzO;ekUk c<+rk gS rks Roj.k &

(A) c<+rk gS (B) lekUk jgsxk

(C) ?kVrk gS (D) dHkh c<+rk gS rFkk dHkh ?kVrk gS
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27. Soda ash is –

lksMk ,'k gS &

(A) Na
2
CO

3
·H

2
O (B) Na

2
CO

3
(C) NaOH (D) NaHCO

2

28. Which of the following is an basic salt?

fuEUk esa ls dkSUklk lkekU; Yko.k gS &

(A) SnCl
2

(B) NaCl (C) NH
4
Cl (D) CH

3
COONa

29. Which of the following gas is lighter –

fuEUk esa ls dkSUklh xSl lcls gYdh gS &

(A) H
2

(B) SO
2

(C) O
2

(D) NO
2

30. Which of the following is a ferrous alloy–

(A) Copper (B) Brass (C) Magnalium (D) Steel

fuEUk esa ls YkkSg /kkrq gS &

(A) rkack (B) ihrYk (C) eSXUksfYk;e (D) LVhYk


